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Chapter- 12
Simplification - BODMAS Rule

WORKSHEET

1. Fillin the blanks :
a. Sums involving b (o4 bracket are to be solved first

b. These () brackets are called _p gmeytheses or common bracket.
INBODMAS “M” stands for dtisgcodfion
We remove the 5ql jane bracket last while simplifying

While simplifying, o bt nac _t| omn is the last operation to be solved
2. Simplify :

a. 76+4+8-3x2

c.
d.

e.

Ans. = 19+ G-3X L
=194 8-6
=27-6
=2

b. 54+9x6-4+3+8

Ans. =6 K6~ HT3+8
=36-443+8
=36t3 te-4
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3. Simplify the following
a. 12-[20+{8-2(9-5-2)}]

ans. 1226 = £8-2%X25]
F12-C20+£8-2%24%]
-~ V2-LC20~§£8-43]
= |3-CL20-49]
= 12-5
= 7




b.zs.i(s+4-(3¢z-fién

s = 255 £ 544-(31)-) )
=251 § 5y~ C5Y4)}
11533 £Got4-13

26-1 £83
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t ¢ 04+[15+{06+(03-03-0.1)}]
53 . -
I ans.= 0.4-C1.57%0.67C0.3-0.2)}7
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*%f-*_ = 0.8 @.5 ~go.6 0NN
' ze.u-E£1.896 7
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